y [N

13.02.06 "0 7mRn 2032 710 3 NESDNINN
s TR
PIATE Y " St
maTzuseTa notans 'R 12 an
201.1.9591 o 'on
L fals iy halal
AN DT A T 3 - A R

(NTTRa 25 5 o TeRw 93) miRw 5 snn 4 9w nawt ue

1 'on oxw
SR ARIMYAT AR MNY 27D 0UINWn [TI50 YW M0ta Wwanw

U, tu,—u, =0
aow kN oy O<x<L,0<y<zm 1a%ma
u(0,y)=sin3y, u(l,y)=y{x—y), u{x,0)=ulx,7)=0.
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u, =au,, —ku, (—o <x<00,t>0)
u (1,0) = f(x)
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u, =%, (0<x<o, 0O<i)

u(x,0)=exp(—x), u(0,r)=exp(-t), u,(x,0)=0
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uuzazun.—kzunLF(x,r), O<x<l,0<¢t

u(x,0)= f(x), u,(x0)=g(x),
u(ot)=a(), ud)=p0
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au(x,0)=x" wan x>0 "y
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